[ Efficien

Cy Vs vertpos |

—_

0.1

2

% E N N N
L 0.00F oo 3 1 R SRR
g F . N N
2,0.08F P P e
8 F : N N
B 0.07 o B {1 SR RREIERE
] E . N N
o : e :
% 0.06 """ (AR e TR penennnnnees
0.05F e meisemmem i REREEREE
F H R H
0.04F+ i N RRRRRERR e
0.03F [+ (- (1T 3| oo RRIERIEEES
F s -+ H H
0.02F------- L o b R 0 i o e
E pa s :
0.0+ : e
2 N N -+
o\ SRR | BT BN BT 1T BT
O 1. U9\ 3 3 N
= i i :
o L |
| ol R ERE e ] B T
0.955 . )
10™ 10 1 0
TP vertr (cm
— L) 78 FIESTCOWPT_TOQOEV
—— DOM—CKFREFit-testLowPt 1000evt
iciend —— ook Err o e g
Efficiend —— BEM &REREFILORA tostiowbt 10006

~ 0.5
$0.45
0

> 0.4
>

<

£0.35
0.3
0.25
0.2
0.15
0.1+
0.05

effic

1.0

Ratio

iy

0

[ Efficiency vs. sim PV z |

10 20
TP vert z (cm)

N 0.5
>

8.0.45
0.4
£0.35

Sim

o
[

iency

0.25

effic

o
()

0.15
0.1
0.05

Ratio
o

iy
TTTT [T T

+":||-
it | ]

%55

0

5
Sim. PV z (cm)

10 15 20

30




	Contents
	Page 1


